2A:
PSER
o e
l:}o|

WSO X2t
H=suws X

2N 22 & A

H & 0l & AHS B Ml A

S - BE - BI(3) - NRAY - BAS

Ofl &F2H

HMEE
Ofl &k2h

WSOl Xl 2t

(Y]

S

A H

19,570,372
1,689,579
466,000
22,500
1,329,158
16,063,135

16,825,797

&3

M

10,655,534
9,279
466,000
18,400
528,418
9,633,437

10,401,545

253,989

(=TT

S

M H

10,397,293
7,800
466,000
18,400
517,432
9,387,661

10,137,430

259,863

M

1,230,570
366,000
864,570

1,239,586

29,016

307 212+01™

Mo

1,230,570
366,000
864,570

1,230,586

N9,016

0 =
o

1,230,570,000&

Mo

1,230,570
1,230,570
366,000
864,570

1,239,586

A9,016

Ho
1
184
é
10
AS
i
I
i
pn|
0

4,920,000

4,920,000

wW
S
ro
S
S
>

4,920,000

4,920,000

8
H0
4>

Q
=
h
b
it

0
20
1>
QR L
10
o
T
P

410,000,000 = 128

4,920,000

4,920,000

4,920,000

[=)
J2
>
o
>
o
4>

M HE X2

M

3,463,863
460,468
3,003,3%

2,970,864

492,999

307 212t01&

A H

3,462,710
460,468
3,002,242

2,969,680

493,030

, 8
H0
4>

>~ 12

H0 2

x
HT
Pl
o Y

ball
@

J9 08 J8

2(_1: [m
oM 5 OF
{0

0
0
El
O
o
0l

e
=
1K)

(ALHEIBEH0IE)

200,000 122
o=
5,

500,000 42

3,462,710

2,400

22,000

2,969,680

493,030
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2A:

WSO X2t

3 Usus X
Crel: 249y 22l L X (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
el JEasR XH
20,0002 87CH*12& 20,880
SEEHA 240 WEX
787,007,500 42| 3,148,030
< 460,468
2 2,687,562
CCHUQTHA EMDIAD
269,400,000 269,400
308 AHXIEMSOIH 1,183 1,184 A3
1 SIS0t HAS A 1,183 1,184 A31
CEASHEBRIAAY 2
1,153,000& 1,153
Al ZAHEAL 122,490 122,490 0
= 7,800
[Ea 114,690
201 =3 490 490
01 AlR22lH| 490 490
CEAATIAIAE BAAE
70,0003 *7 E=*12] 490
307 el2tol & 122,000 122,000 0
= 7,800
o 114,200
0 2=gHEXS 122,000 122,000 0
SEHAIZX 2HAI 61,000, 0002 =2CH 122,000
= 7,800
s 114,200
wWSAL OlsHe SEXE 29 330,370 200,490 129,880
Jl 18,400
s 26,964
s 285,006
201 et 3| 490 490
01 At2t2l] 490 490
CMEANOISHOZTAS BMLg
70,0002 7 H*13] 490
307 elztol & 329,880 200,000 129,880
Jl 18,400
[ 26,964
Ea 284,516
05 2ItRIE = 329,880 200,000 129,880
cuWSHA OlSHe SAXY 29
60,000,000 4= 7| 240,000
Jl 18,400
= 221,600
oSN HIRMEAl X2
1,872,500 *4LH* 12 89,880
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A WS X
2 Uzsus XN

ool 2aoF el 2 XY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 26,964
s 62,916
SEE NS2YAH(1008 SHAI2D) 330,000 380,000 250,000
= 100,000
< 30,000
= 200,000
307 lztol & 230,000 230,000 0
= 100,000
== 30,000
o 100,000
09 2HAHEXS 230,000 230,000 0
o SENAI(1008) XI& 230,000,000 230,000
= 100,000
=S 30,000
s 100,000
308 AHXIHMSO0IA 100,000 90,000 10,000
08 wW=J| 202X 100,000 90,000 10,000
cHlFEA(RSHE) X 100,000,000 100,000
s 243t 207,687 204,069 3,618
= 1,479
< 10,986
[Ea 195,222
SZE HEXE FHl A 22,000 22,000
401 AlEHIZL S0 22,000 22,000
01 Al&H| 22,000 22,000
osEHA EXE FH
550, 0003 *40H 22,000
Hsus 147,587 178,069 /30,482
201 er2 3| 92,487 114,219 N21,732
01 AtR2t2|HI 80,967 114,219 N33,252
o4z EF HAIYY
250,000 *87CH*30f% 6,525
o&ddT 2 HAEgE 21
726,000 »87CH 63,162
oclizus dd 82 A
6,000,000& 6,000
clisusS YR SEH|
8,000 x4 » 1652 5,280
02 S22l 11,520 0 11,520
oBIS &I & S4ltl 11,520,000 11,520
202 04l 7,600 7,600
01 =LHA LI 7,600 7,600
SHERE Y2
20,0002 x4~ 7,600
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2A:

WSO X2t

Zu: 50 A2
2ol tisus gdst (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
203 HR=H] 2,500 2,500
03 A=A 2= 2,500 2,500
CUERE BN ALEX
625,000& *4= 7| 2,500
207 ARl 45,000 22,000 23,000
01 S| 45,000 22,000 23,000
CSEHA 28 MEXA HPE
45,000,000 45,000
@ 2HEGS NEEHE QIMEIE XI&AY 12,600 4,000 8,600
= 1,479
=S 3,336
s 7,785
301 EtE NS 12,600 4,000 8,600
= 1,479
= 3,336
[Ea 7,785
14 JIEt2a3 12,600 4,000 8,600
o ndL UGS AdEHY QIMEIE X
A 200,000& »63H 12,600
= 1,479
= 3,336
Ea 7,785
08 MHEOIEEEEA EXN NS 17,500 0 17,500
== 5,250
o 12,250
402 2I2E X201 & 17,500 0 17,500
< 5,250
= 12,250
02 QI X2 AL EE (01X THE) 17,500 0 17,500
o NE2H AHHOIEB 2R EXIXNS A
& 500,0003 *35CH 17,500
= 5,250
Ea 12,250
HEd 2HHG AHAIBHE &OIotE BB N2 A 8,000 0 8,000
== 2,400
o 5,600
402 2I2E X201 & 8,000 0 8,000
< 2,400
T 5,600
02 QIZEXHZ2 AL E X (01X THE) 8,000 0 8,000
o0Z4l 2HEG et 2ootE K
2 KA 500,000 = 16CH 8,000
= 2,400
[Ea 5,600
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A WS X
2 Uzsus XN

el UsA S=2d (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
St Ss52el 50,554 60,046 N9,492
INESHNSES B e 16,720 21,800 25,080
201 er23| 12,720 13,800 21,080
01 At2teltl 7,680 8,400 AT20
SNEXNS=E 428 72
30,0002 x85+123] 2,880
oNSAUSE HRFE S&HI
8,000 x4 150! 4,800
2 S5=2g4l 5,040 5,400 A360
oREE EXIAIAE FX2el
420,000 123 5,040
202 04l 4,000 8,000 24,000
01 =LHOHI 4,000 8,000 24,000
oNSAS=AL 2
10,0002 x4 100! 4,000
ASxAtete delg 2t 33,834 38,246 N4, 412
201 2= 33,834 38,246 N4, 412
01 At22t2l] 10,054 11,430 A1,376
olESK SES(LEEEH, SERR )
70,0003 #3082 A 2,100
oltSit & HULSSHUHE DXA M=
70,0002 128t Ax35 2,520
oNSit A2 sites
3,000& +1,000%& 3,000
cAEIA =SAMHAS HX & 28X 2
& 1,730 +8000H 1,384
oXESE Zeld 2el 350,000 *34 1,050
02 S3=gl 23,780 26,816 A3,036
oNsSXBA HUHSN SERS
430 *20,0000H 8,600
oXtsSXt WEHE DN RERS
2,530 +5000~12& 15,180
Ol KIS KH2OR 6,935,573 4,198,466 2,737,107
= 1,680,300
Jl 4,100
== 800,740
[Ea 4,450,433
WSO AMSI| X € 2el 209,800 223,800 214,000
< 10,000
s 199,800
AsI EX € wH 184,800 173,800 11,000
201 er23 | 34,800 34,800 0
2 s5=4g4l 34,800 34,800 0
custss & BES &L=
2,900,000& 123 34,800
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2A:

WSO X2t

=R NN ([ DNE= NP =
ol WEOHN MBI X Y 22 (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
206 M=l 20,000 20,000
01 MHZH| 20,000 20,000
cuSHss 248 M 2 20,000
“WSASH01D] 5,000,000 *2JH 2= 10,000
-BEN0II 500,000 * 107 A 5,000
- EASS(LED) 500,000 *107H A 5,000
401 AIZHIZL SO 130,000 119,000 11,000
01 Al&H| 130,000 119,000 11,000
cuStES Ald= X & WA
10,000, 0002 * 1090 2 100,000
cHEANEE 2= 1,000,000 *30JH 2~ 30,000
WEALD A SHEE HEAIE ZXIALY 25,000 0 25,000
< 10,000
[Ea 15,000
401 AlEHIZL SO 25,000 0 25,000
& 10,000
= 15,000
01 Al&H| 25,000 0 25,000
o SAL f8 82T QHNMAIE EX A
& 25,000,000& 25,000
= 10,000
Ea 15,000
SSHQ JI2S 22 1,357,640 947,240 410,400
== 380,000
[Ea 977,640
JII2SuM & =Al2 1,357,640 947,240 410,400
< 380,000
= 977,640
201 er23| 434,840 433,440 1,400
01 At2tltl 5,000 3,600 1,400
CARES & It2S 225 7Y
50,0002 *105+ 102 5,000
02 S3=gHl 429,840 429,840 0
otzs &JIRs 426,240
-JI2S(SEH) 5,000&+2,0005+ 122 120,000
-2orS(ZAKI) 4,4003 5,800+ 12 306,240
cIIZ2S LAY SUANER
5,000 *200H A+ 128 1,200
oIS 22l T2 8 RAEF
200,000& * 122 2,400
206 M=l 146,000 146,000
01 M= H| 146,000 146,000
oII2S B48 A 126,000
= 50,0002 505+ 122 30,000
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2A:

E M

WSO X2t
Ol XIS KH2 O &

ol EEH0 OIS 2al (Cre|: ®M2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=y 50,0002 505+ 122 30,000
-XHED S OIE 20,0003 505122 12,000
-LED 2otS 300,000 x155* 122 54,000
oMAtAal AHSEEII 50,000 400K 20,000
401 AlEHIZL R0 776,800 367,800 409,000
= 380,000
= 396,800
01 Al&HI 775,000 366,000 409,000
olD Jt2S 21 & wH
1,000,000 *200S 200,000
<Jti28 FAZel SIS
74,0002 %2,5005 185,000
oJizs &JId H& € gl
100,000& *1009H 2 10,000
oA SR B2EE AFZ (XIS
2AR) 280,000,000 280,000
S 280,000
cLANR MUEZ HHH JI2S XS
HXIS N ALY ) 100,000,000 100,000
= 100,000
03 Al 20HHI 1,800 1,800 0
otzs |AZ= ¢ 014, WA, £ 2
= 1,800,000 1,800
auxolE sd 5,368,133 3,027,426 2,340,707
= 1,680,300
Il 4,100
== 410,740
o 3,272,993
AKX 2SS ==X 81,907 59,822 22,085
< 23,384
= 58,523
201 er23 | 1,440 1,440
01 At2teltl 1,440 1,440
SOUAl HF=8 SEl
8,000 x3& »60! 1,440
202 048l 2,520 2,520
01 2L AL 2,520 2,520
clUHAIES =& 20,0003 x38 42! 2,520
402 2I2FXH=201H 77,947 55,862 22,085
[ 23,384
Ea 54,563
02 QI X2 AL EE (01X THE) 77,947 55,862 22,085
oAU 25 XA
77,947,000 x14] 77,947
= 23,384
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2A:

WSO X2t

PSPV IS DNE=IONEED) =
ool olHXI0IR EA (crel: g)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| 2 54,563
ATHAENUHKIES SSTKIJA 4,199,626 1,940,504 2,259,122
= 1,646,550
& 382,856
[ 2,170,220
201 LBt2AY| 700 700
01 A=R2teld| 700 700
SAITHMUIHXI SEAIY IR 2+
=4 100,000 *7H 700
402 QI At=01H 4,198,926 1,939,804 2,259,122
= 1,646,550
T 382,856
= 2,169,520
02 QIZIXE2AEEE(OIMTHE) 4,198,926 1,939,804 2,259,122
SAMMMAHHK E= S=SXJAAE
4,198,926,000& * 14 4,198,926
= 1,646,550
T 382,856
[ 2,169,520
LMAFHIS X2AIS (2 HELA L) 1,400 1,300 100
| 1,400
301 LPENZ 1,400 1,300 100
J| 1,400
14 J|EI2 43 1,400 1,300 100
ogd IISH? AE HIE 7L
1,400,000 1,400
| 1,400
LUMAFHIE XJAMNS(SRAcIESE YT L) 2,700 800 1,900
| 2,700
301 LB F 2,700 800 1,900
| 2,700
14 J|EI2 A3 2,700 800 1,900
ogd OIi=H? dAE HIS 7L
2,700,000& 2,700
J| 2,700
TADIA SZAY 1,000,000 1,000,000 0
402 QI2E X201 ™ 1,000,000 1,000,000
01 QIZEXH2 AN 2 2 (RERITH ) 1,000,000 1,000,000
SZAIDIA B3 1,000,000,0002 * 14! 1,000,000
MBIS JIACHMEXI(EHOINIR) E2AY 15,000 15,000 0
T 4,500
= 10,500
403 REXISHHIS K201 & 15,000 15,000 0
= 4,500
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2A:

WSO X2t

33 UKL RN
el oiHAIOIE & (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 10,500
02 SISOt =2 A 2 E A I 15,000 15,000 0
SIIAHEEXI(EIOIHZE) ESAtY
15,000,000& 15,000
== 4,500
[Ea 10,500
LPGEI| ALt AIEOHE ALY 67,500 10,000 57,500
= 33,750
= 33,750
403 MR SHHMSAH=01H 67,500 10,000 57,500
= 33,750
Ea 33,7850
02 ST 2SOt =2 H P E A I 67,500 10,000 57,500
olPGEJ| AHEIt7 AIEIHE AL
225,000& #3009+ 67,500
= 33,750
o 33,750
ns=si 58 1,922,000 39,600 1,882,400
Fxtetd e 1,880,000 0 1,880,000
S EX2g 1,880,000 0 1,880,000
401 AIEHIX 20 1,880,000 0 1,880,000
01 AlZ2H| 1,880,000 0 1,880,000
oFS0HUE o2 =Y TEAE
800,000,000 *14] 800,000
oF)S01H HY=XHYH ISFIUHE 24
A+ 600,000,000& x14] 600,000
oS0/ 42| HA XK & =XHE =4
Ar 300,000,000 x 14 300,000
oZHFIE HMIIX A EXAMY
60,000,000 *3JH 2 180,000
S=X 42,000 39,600 2,400
ws N& 42,000 39,600 2,400
201 el 34,000 31,600 2,400
01 At22t2lt] 4,000 1,600 2,400
cuSHeEI}t &o?d 2 =&
100,000 8 #53] 4,000
03 A= SHI 30,000 30,000 0
oM WSOt & F=XHY 2tel
30,000,000& 13 30,000
307 212+01& 8,000 8,000
02 LB HAHEE 8,000 8,000
cusSkE BH 5 XA
6.,000,000& 6,000
ostig HEl0l nSEM HE K&
2,000,000 2,000
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SN DSULXID
M Y 2AFH(FNnsS)
el QIEE2E ESR=ED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
AY2LZH(Z S L) 57,265 83,186 N25,921
oI 2Z| 32,055 56,776 AN24,721
ol 23| 32,055 56,776 A24, 721
101 @124l 32,055 56,776 A24, 721
01 2= 32,055 56,776 A24,721
oAlZtelRR s
11, 130& * 15 *16 A 2H+ 12 32,055
JlE2al 25,210 26,410 21,200
J|123&H| 25,210 26,410 21,200
201 LBH2AH| 21,010 21,010 0
01 AtR2telt] 21,010 21,010 0
oANRESE FY 10,000 x20&*123] 2,400
o=AEN P 25,0002 #1782 A 122 5,100
cHEEE 30021 +5000} * 122 1,800
S=AI| ARE DY L 42
1,500,000 *2CH 3,000
odl0Id Zele A2 7 L 2|
400, 0002 +6CH 2,400
REZA=Z 4,800
=X 20,0002 x52+12& 1,200
NN 15,0002 x202 12 3,600
ol FJ| Xtz
56,0003 «1CH* 123 672
oSJ|EFI| Lxtz
34,9003 «2CH 123 838
203 AR F=&lh| 4,200 5,400 21,200
M PA2HHRFA| 4,200 5,400 21,200
o=2521 0]t 350,000 =12 4,200
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